
1-10 90 80 70 60 50 40 30 20 10 0

     

1) 172 ÷ 3 = 34 r2
×

34
3

+
102

2
104

2) 539 ÷ 2 = 269
×

269
2

+
538

0
538

3) 942 ÷ 2 = 134 r4
×

134
2

+
268

4
272

4) 245 ÷ 4 = 61 r2
×

61
4

+
244

2
246

5) 137 ÷ 3 = 45 r2
×

45
3

+
135

2
137

6) 401 ÷ 7 = 57 r2
×

57
7

+
399

2
401

7) 455 ÷ 3 = 56 r7
×

56
3

+
168

7
175

8) 989 ÷ 5 = 197 r4
×

197
5

+
985

4
989

9) 493 ÷ 4 = 123 r1
×

123
4

+
492

1
493

10) 829 ÷ 5 = 165 r4
×

165
5

+
825

4
829

Division problems can be
checked by multiplying the
quotient by the divisor and
then adding the remainder.

If the answer is the same as
the dividend, it is correct.

263 ÷ 8 = 32 r7

×
32
8

256
+ 7

263

182 ÷ 6 = 29 r5

×
29
6

174
+ 5

179

1. not

2. not

3. not

4. not

5. correct

6. correct

7. not

8. correct

9. correct

10. correct

     

Check each answer. Determine if the answer is 'correct' or 'not'.
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